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- a) paraIIeItoeachother i f; b) unrtvectors '
c) mutually perpendlcular vectors d) coplanar vectors
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. arex-2y= Oand 2x +y=0. What can you say aboutthe twollnes? ,
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34 If ai, dz, 33,
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.35, Thelength of the perpendicular draw from the origin to the Ime is 12 and

" makes an angle 1500 wnth the posmve dlrect|on of the X--axis. F|nd the

N . PART II ‘ 7X2-14
lf;)te Answer any seven questlons Questlon No.30i is compulsory.
[ 2, 2] = Bi IS glven by f(x) x3  then find Bso thatfis onto

[(x*+x-5; xG(—“DO)
|93y our e (3,00) W

f() SE "XE(Q,Z)ﬁ" '

- Wntethevalue offat 3and0|f X7 i

L ! x2 —fB_: i ot-hern?ijé i
—“T where |x] < 2 upto the fourth term M

Find the combmed equatlon of the stralght lines whose separate equatlon '

tanﬂ "—cos 6] s

Find the sumA-B + Cif. 4=| .~ |, B=
‘ . il e oG 0 cosec 6 g 1

Find the derivative of sin”(3x=4x’).

fShowthat hm( )’:e‘-’- R g
. ,x—2 R e

Showthat fx)=v1=x"
Flnd f(2) and f '(4) if f(x) = x= 3I

205 N CPARTNL E 7x,3 Spoea
i {'«‘Note Answer any seven questlons Questlon No 40 1s compulso,-y s
If f R-—)R Is. deﬂned as. f(x) 2x -1 flnd the pre-lmages of 17 4 o4

an ‘isan arlthmetlc progressnon prove that every term v
thmet:c mean of its lmmedlate predecessor 3.1 and _' P
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44.7a)Showthtc+a b B, -(a b)(b c)(c a)(a+b+c) (OR)
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'b) Prove usrng vectors that the medians of a tnangle are concurrent

b)Evaluate: lim R A et i
. f_a) Find thecosune and sine angle between the vectors a= 2,... J +3k and
. b=4i-2j+2k. (OR) ~ - , i

Find the vectors magnltude 10[ that are perpendicular to the plane which
contains 1+2]+k and1+3j+4k ' -

Does the limit forthe functlon sinix | exists when x._>o.State reasons_for

your answer
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If y=sin® x4+ cos* x fnd —dlx

In the set Z of integers, define mRn rf m-nisa multlple of 12. Prove that R IS '
an equivalence relation. \ ,

Solve : \/—smx+»cosx =2
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a) If A+B+C“'— provethat sm2A+sm23+sm2C 4cosAcosBcosC
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a) By pnn0|ple of mathematlcal mductron prove that for n>1

+7 - (‘n(n2+ 1)) (OR)
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b) Showthattheequatlon 4x* +4xy+ y 6x 3y 4 0representsaparr

of parallel lines: Flnd the dlstance between them
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a)Showt‘Hatthefunction x;l' i 1IS contlnuous on (—oo oo) (OR)

b) If y= _ ety showthat (1+x)y"+(2x )y'=0.
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a) provethat NxP+25 - \/;c +9-— nearlywhenxrs Iarge (OR)

Ji+xi-x
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Note : Answerthe followmg questrons : ‘ |
a) Let f,g: R—>R be deflned as f(x) 2x~—|x|and g(x) 2x+|x|fnd
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